
lEE Advanced 2014 Solution Paper-2 Chemistry (Code-7) 

21 Tl'<! p<odUCI formed In !he reac;IIOn of SOCI, Wolh while phosphorous S 
JAI PCt, (8) SO.CI (C) SCI, (0) POCI 

Solution: (A) 

The reaction goes as follows: 

22 •t mapr product In the folloWing reacuon ts 
(Figure) 

Cl~ I CH,Mg8r dry ette< 0 "C 
CHJ 2 aq aod 

(A) " 

' 
Solution: (D) 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



Solution: (A) 

The reactions areas follows: 

Solution: (D) 

The first reaction goes as follows: 

This is followed by the following reaction: 

X eO. + Of..f ----+ Hxeo4• 

hydrogen<enate ion 

Thls lon when followed by further reaction gives: 

2HXe04"+ 20H" ----+ xeo:· + xe + ~ + 2Hfl 

(0 ) 3 evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



Thus three gases including water, xenon and oxygen are produced. 

 

Solution: (C) 
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26. Isomers of hexane. based on their branching. can be divided 1nto three dlstmct 
classes as sho'Ml m the figure. 

[Figure] 

'l + and --\-" J li lY"" ond ~ I 111 [ ~J 
The correct order of their boiling pomt ls 
(A) t II 111 (B) Ill > II > 1 (C) II Ill > 1 

(D) II I > I 11 

Solution: (B) 

This is due to the fact that branching oft he chain makes the molecule more compact and thereby 
decreases the surface area. Therefore, the intermolecular attractive forces which depend upon t he 
surface area, also become small in magnitude on account of branching. Consequently, the botltng 
points of the branched chain alkanes are less than the stra(g ht chain isomers. 

27. -------.~·~· 
For the idenhflcatiOn of fl·naphthol using dye test 1 . 
(A) dochiOromethane solut10_n of .ll.·naphU1ol (B)' 

1 a~i neces~lY to "S.e 
(C) neutral sotuhon c.f I} ndphthol (D) die soluUon of 1!.-naphth 

1 

II 

alkaline soluhon of " o 
- - ,;>·naphthol 

NO T oporatovP ll>o ~~- -28. AcC.IJ(f "9 2 , 
Solution: (B) 

p -Naphthol or 2- Naphthol is identified by using a due test using an acidic solution. 

••• ·- """"IUUOn 
28 . As!;urnmq £. 

followanq 1 

rAt &1 

~IJ I 1 I 1 NOT operative . the 
·naphthol. 

paramagnetic spec,es 

l2J 

Solution: (B) 

N II •• 

B, exists in the gas phase as a para magnetic radical. 

' 
M 

30. For IIi 
"~ '------=-

Solution: (B) 

• 

IC) C . 
among 

(D ) N 

the 

• ' (D ) N2 
I d Sd•"~ 
I .-~drance ol M '-. 

M The oraer ol lh '"Creases by 
e reacho . a 

n W1th 
!D) 1 

• 
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 Ext - 204 

 

Let the rate of reaction be given by: 

� ∝ ���� 

Let the initial concentration and rate be given by:	�, ��. 

Then the final concentration and rate would be given by: 2�, �� 

So, we get: 

���� =
�2������� = �2�� 

But, we know that: 

���� = 8 

So, we get:		 = 3. 

 

Solution: (B) 

As the reaction is an endothermic reaction, this results into a decrease in entropy of the 

surroundings and since a orderely arrangement of liquid changes to gas, the entropy of the system 

increases.  evid
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31. Solution: (A) 

The reaction goes as follows: 

32. Solution: (A) 
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Paragraph Fo r 

An aquoous solution of me1a11on M1 reacls separalely wdh reagenls Q a nd R '" et cess to 
gtve tetrahedral and &quare planar complexes, respectively An aqueous so ut10n o f 
anolhur melal 10n M2 always forms letrahedral complexes ·Mih lhe~e reagents Aqueous 
solutiOn of M2 on reacuon w1lh reagon\ S goves whole precopolale whoch d1ssolves on excess 
ol S The reaclooM oro summanzed In tho &ehome g1ven below 

SCHEME: 

Square planar 
exce&s 

Teuahedral - --- M2 - Telrahedral 
excess excess 

Q R 

l S, sloochoomelroc amounl 

s 
\!Vhrte precipitate prec1petate diS.SOives 

excess - -

33. M1 , Q and R. respectwely are 
(A) Zn'' KCN and HCI 
(C) Cd1' . KCN and HCI 

-..{ef Nl'' . HCI and KCN 
(D) Co'' HCI and KCN 

u 

34 Reagent S I& 

At K.IFPICN Bl Na. HPO, (C) K.CrO, (0 ) KOH -----' 
33. Solution: (B) 

We know that NiCl~- is ten·a hedral and NiCN~- is square planar. 

Thus it satisfies the given relation and dms the choice is B. 

34. Solution (B) 

NazHP04 fonns white salts the precipitate of which dissolves in excess. 
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x and y aro 1wo volalole liquods wllh molar weights of 10 9 mo anti lfO 9 mof' 
rospecllvety Two cotton plugs, one soaked on X and the other soaked on Y are 
slmullaneously placed al rhe ends of a tube of length L = 24 em. as shown 1n the f1gure 
The tube Is rolled Wilh an Inert gas at 1 atmosphere pressure and a temperature o f 300 K 
Vapours of X a nOV reactlo form a ~roducl which Is first observed at a distance d em from 
the plug soaked in X Take X and Y io.bave equarmolecular d1amelers and assume odeal 
ool\aviour for the Inert ga·s and the IWO vapours' -

- L - 24 cm 

AU f\ IT~ 
Conon wool "'""'::=:;==-:-::..\\ __ _},J:. Cotton wool 
soaked in X d soaked 1•0 't 

Initial fonnation of 
the product 

35. ~e value or d on em (shown on the figure), as estimated from Gra~am s I s 
I ) 8 (B) 12 - (C) 16 . 

20 -- --- ~ 

36. The exp.enmental value of d os round to be 
Graham s taw. Thos IS due IO smaller than the estimate obtaoned usr 

~(A) larger mean free PBih ror X ng 
~(B) larger mean free palh fo y as compared to !hat or y 

(C) Increased COllision f r as compared to that of X 
WW!Ihe lnel1 gas. requency ol y woth lhe onen < '' 

~(D) lnctaallld COllision f m; r 
With the Inert gas, requency or X wolh lhe In• n 

35. Solution: (C) 

Now since the rate of diffusion is proportional to distance covered, so we have: 

d 2 
24- d 1 

Hence, we have: 

3d = 24 X 2 => d = 16 

36. Solution (B) 

The reason being the molecular mass would influence the mean free path of the gas. 
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Solution: (B) 

The reaction is as follows: 
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Solution: (C) 
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If) '\ 

! J"v/ 
'~ 

Con e. U I\P.3 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



 

 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



 Ext - 204 

 

 

39. Solution: (B) 

We have P as:����
�����
���
. 
Now the central atom shows an oxidation number of +3. 

Therefore it shows paramagnetic behaviors and therefore exhibits cis-trans isomerism. 

The structure is given by: 
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